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M SAl=X

HH: CASSIAIR (RELXANL /X AL T A
CH9l: =XBAEY (crel:®e)
SN B SRA(SIH) - MBAY - BAS 0l &k 24 e HlnE2
SAISX B 10,466,395 9,280,999 1,185,396
= 218,191
7 1,650,000
= 649,032
= 4,257
Al 7,944,915
CASSA (RELRANL/NALEAI) 4,901,541 4,322,134 579,407
7 100,000
= 30,000
Al 4,771,541
SXB2EY 4,093,981 2,974,004 1,119,977
7 100,000
= 30,000
Al 3,963,981
ENEESE 548,737 701,800 153,063
101 o124 8,436 0 8,436
10 JIAR22XS24 8,436 0 8,436
OAIIX =XAES S22 8,436
o1l 51,3809 3%+ 102 53 7,707
SR JRRe3 7,707,0002 9. 45% 729
206 Ml 1,000 0 1,000
01 Mz 1,000 0 1,000
O=XAE2 RXzel HH7Y
10,0008 *555 %10 +23] 1,000
401 AN&HIYL2HY] 539,001 701,800 £162,799
01 A& 535,000 700,000 165,000
OYBAZS HE=SAY (AKX & BEX
o) 50,000,000 *14! 50,000
Osols 2 4HGSIIAY
40,000,000 *14! 40,000
OJIZSMEAL SHFSIIAY
30,000, 000! *14! 30,000
OSHBHARA SHESIIAH
30,000,0002!* 14! 30,000
O=722AL SFHSIIAY
40,000,000 *14! 40,000
OXNYS 439 ZHAY 15,000,000 *14! 15,000
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M SAl=X

I CASSA (REUNGNL /N HL A
ool =XZ2AEA (ol a e

- - o HEE =
SH-EH . C(BH) - NRAY - BES Off &F oA il b o bRz
OBES 23 Z&AE  20,000,0002 %14 20,000
OYsts oig A2 ZHANY
50,000,000 14| 50,000
OJZ O L 2 ATHMY
100,000, 0002 *141 100,000
OSANEEZL SLOIR 2L
80,000,000 14! 80,000
OFATEHUY A =AY
80,000,000 14| 80,000
03 Al&SCH] 4,001 1,800 2,201
OSANEZH A2
635,000, 00024 %0.63/ 100 4,001
405 TrarFE S 300 0 300
01 TMUSEFHSY] 300 0 300
OsstAIEE RNz ORI 7Y
150, 0002 *2CH 300
Jhza ZHAY 131,224 363,675 £232,451
401 AlEHIL 2O 131,224 363,675 £232,451
01 AIZH] 130,000 361,500 A231,500
OBILEIOFAICH It 4 BAIALYS 80,000
“HES o 500, 0002 #1002 50,000
SHZ0D ¥ AHT 2 500, 0002 *60 30,000
OJZ4 ATAY 50,000
"S55 2 24 AT
30,000, 00021 *14] 30,000
-l RAXA 24 AT
20,000,002 14| 20,000
03 Al&=CH] 1,224 2,175 ~951
ONZLEH A&
170,000, 00024 #0.72/ 100 1,224
SRH4+2E NAHOR X4 1,006,300 1,036,200 £29,900
401 AlEHI2 2] 1,006,300 1,036,200 £29,900
01 AlZH] 1,000,000 1,029,900 229,900
OSSH+2F HOH ZLZA
1,000,000,0002! * 14! 1,000,000
03 Al&SCH] 6,300 6.300 0
O==2H+SH HOIH ZLBA AL
CH Y| 1,000,000, 0002 %0.63/ 100 6,300
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A -3 -H2A(SH) - HEAMY - BES O AF K Ofl At ot Hlws2
=SHAlY X2 58,520 42,020 16,500
201 Y2yl 4,200 2,700 1,500
01 Ar2Ealtl 4,200 2,700 1,500
03.29+¢ 4,200
“HEA CAI=SSIRE BASY
70,0002 102 +63] 4,200
202 01l 4,320 4,320 0
SBENEE 4,320 4,320 0
O=3t A= F 01| 60,0002 323 x32 *83] 4,320
206 Mzl 20,000 15,000 5,000
01 M=ol 20,000 15,000 5,000
OROHEAl +2X18 20,000,0002 20,000
403 RXISHSKHZO0IH 30,000 20,000 10,000
02 ZIIZS Ol ChEHCHE ALY 30,000 20,000 10,000
OMHASFH =3tALLS 10,000,000 *14} 10,000
ONZEBEEY =AY
10,000,000 %14} 10,000
OMYERFH =L
10,000, 0002 * 14} 10,000
CAEEL(2E) 201,440 810,309 608,869
2 100,000
= 30,000
Al 71,440
401 ANEZHL20b 201,440 810,309 608,869
2 100,000
= 30,000
Al 71,440
01 A& 200,000 805,362 605,382
OZAEZH AL 200,000, 0002 %14} 200,000
100,000
= 30,000
Al 70,000
03 A&l 1,440 4,907 A3,487
OZAETHAY AL2THY]
200,000, 0002 *0.72/100 1,440
HECRX 228 2,147,760 0 2,147,760




FAM: ZEAISXL

I CASSA (REUNGNL /N HL A
o9l =X BAXH CEEED
_ _ _ Muo
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K Ofl At ot HwsZ
401 ASHILLHH 2,147,760 0 2,147,760
01 Al 2,142,000 0 2,142,000
OHEET=X TAE X4 2,142,000
~ &L Al &2 | 142,000,00021 *14! 142,000
AL 2,000,000,0008!*14] 2,000,000
03 Al&=CHl 5,760 0 5,760
OHET 2N TAlE X4 ALY
1,600,000, 00024 *0.36/ 100 5,760
DAY 807,560 1,348,130 540,570
UMK 2RIBREY 503,600 1,006,300 A502,700
401 AN&HILLHY 503,600 1,006,300 AB502,700
01 Al&H] 500,000 1,000,000 A500,000
Oy MX2RIBY T8 EXB A
500,000,0002 *14] 500,000
03 Al&=Chyl 3,600 6,300 A2,700
O MX2RITBA T4 ALLHY
500,000,0002 0. 72/ 100 3,600
sszA(MSSAS) TH 302, 160 300,000 2,160
401 ASHLLHY 302, 160 300,000 2,160
01 Al&H] 300,000 300,000 0
OBSZA(ME=RTF) & EXHLYI
300,000,0002! *14] 300,000
03 Al&=H| 2,160 0 2,160
OBSTA(ME=RTF) T8 ALSHY
300,000,000 +0.72/ 100 2,160
=L E L 1,800 6,830 25,030
202 OiHl 1,800 2,880 A1,080
01 =Loit] 1,800 2,880 A1,080
OBANY L0
60,0002 +2 % *32 #53] 1,800
AYH AL (SYHY /LYY - ME) 5,336,765 4,899,625 437,140
=2 218,191
= 1,550,000
= 619,032
= 4,257
Al 2,945,285




SHT A=
HE: MYUZMAR (SHHYSA/AY - AE)
ol NROISEX R (5 &2
_ _ _ Muo
SN EB -GS - MBAY - BES 0 & 24 e HRE2
Mg e 1,732,191 1,917,881 £185,690
= 218, 191
= 171,082
= 4,257
Al 1,338,711
R 75,844 58,474 17,370
101 eIty 50,924 31,474 19,450
10 JAHNZEZNSES 50,924 31,474 19,450
ONSYUO0F AEHEA Q1R
51,3802+ 12+ 1002 5,138
O4=E D223 5,138,002 9. 45% 486
OMEB2AA L SH2 BAFH (LYK
&s) 45,300
—ol el 200, 0002 *30% +72 42,000
-2 W 20 110,000 *30% 3,300
201 L2yl 3,000 3,000 0
03 FAI2ZH] 3,000 3,000 0
OASY HA 3,000,000 3,000
206 MEHI 10,000 10,000 0
ET 10,000 10,000 0
OASY A BSRY(0IBLIRS 25)
10,0002 1,002 10,000
01 YL 11,920 2,000 9,920
10 BAMHEAS 11,920 2,000 9,920
OASY #A 1K 24 7,0002%1,000% 7,000
OFE£MTE DS 40|
60,0002 +202 x22 2,400
OYAS AN &4 01|
60,0002+ 142 +32 2,520
axlolg el 2,160 2,160 0
202 Ofl 2,160 2,160 0
01 =Uofb 2,160 2,160 0
OAgZZ2e H2DS A0
60, 00021 %33 +32 #43] 2,160
AERSMAI SIS (BE) 19,440 82,510 £63,070
= 12,960




2A: Xl 1t
=LE BA (SN YA/ - AE)
=k sEx2e ol E )
HH . (3 H) - MBEAY - B Ao gggf; HRS2
SMAD|IBIEXA = 1,944
Al 4,536
It X201 A 19,440 82,510 AB63,070
= 12,960
= 1,944
Al 4,536
OIZtXIE28 X 19,440 82,510 AB63,070
AR S M A B A
3,240,000 *10ha*60/100 19,440
= 12,960
= 1,944
Al 4,536
MEEIAHE RS ) 21,600 35,640 A 14,040
= 10,800
== 3,240
Al 7,560
QI2FAFZ2 01 ™ 21,600 35,640 AN 14,040
= 10,800
& 3,240
Al 7,560
QI 2HCHEH AL Y| 21,600 35,640 A 14,040
A H A & & A 10,800& *2,000ha 21,600
= 10,800
< 3,240
Al 7,560
g o A THGH 45,498 66,959 N21,461
B2 AY| 39,438 60,579 A21,141
AF2 22| Hi 24,720 45,800 A21,080
LBk ZH| 4,000
MEXEOM BOANE S0(=,012)
2,000,000& 2,000
SEIGIF Y M =2
20,000& *50CH 1,000
ALSTHEES S 222 AN
1,000,000& 1,000
O4. .11 28| 9,300
-MEXA DI 5,000& *100H4 500
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EMN: SA=X
B MUEMAL (SHHL /LY - LE)
Crol: Aol E B B2 (cHol &2
S HEM O (S H) - HIRAY - BAS Of) & o4 dE = Hm=2
= * T * - = (=] o = O:H{ﬂ,% Wsa
-AMEXNF=E 110,000 80 =t 8,800
O5. 2| 10,220
A=K HIAZEA 24
7,000 10 130 9,100
-AHE THOH HIAZ2Z2 X 24
7,000 *8%H 20 1,120
O6.2xt= 1,200
A2 XE BHH( B =2 SeHXE A X
600, 000& =2CH 1,200
02 Z2Z2239%H| 14,718 14,779 A61
O1.2Z2222HA 2,460
MEXNSFINE2 SUHE AIE=
100,000& x 1 12& 1,200
-IHFEsE = 2 NSKHA 630, 000& =2CH 1,260
O3. A& & HI KX HI 3,000
“MEBAFE 2D =2 3,000,000 3,000
O4. Xt BHy| 9,258
-S=2(2¥) 4,095,000 = 1CH 4,095
-SSR 5,163,000 = 1CH 5,163
202 04| 2,160 2,880 ANT720
01 =Woib] 2,160 2,880 AT20
Odted2te| dRIXAS 2 Mol A0
60,0002 *3H x4 2 x33| 2,160
206 M =Hl 2,400 2,000 400
01 XME4| 2,400 2,000 400
OMZ2XSE 2D Stdlel 2
60,0002 x40CH 2,400
301 detEA= 1,500 1,500 0
12 JIEIE A2 1,500 1,500 0
ONtSetM HUEHT 24 ZAZ
500, 000& 324 1,500
St 22| 156,550 0 156,550
401 Al&EHILE0iH] 156,550 0 156,550
01 Al&H| 155,110 0 155,110
OsSdt2 =48 & Y| 50,000, 000& *1A! 50,000
O2MA SHtz FH MEIEZSAIE & 105,110




SH CASHD
HE: MEHBAY (SYHSLL/YY - AE)
9l MEOIEENPR (5 &2
_ _ _ Muo
SA-BH.C(BH) - HRAY - B Ofl & o il i~ o Rz
— & A& 100,000,00021+5.11/100 5,110
NEL 100,000,00021 *14] 100,000
03 Al&=H| 1,440 0 1,440
OS&z T4 A&
50,000,000 *1.08/100 540
OS M MEASBZ AL ALY
100,000, 0002 0.9/ 100 900
OF 44 5 2= 1/ 6 04l & 9,782 10,604 ~822
201 Ygreg| 7,430 6,770 660
01 At 22l 4,430 2,070 2,360
O1. 2Bt 8Y| 1,600
OIMESES U IHHY 222 M 1,600
HeHxl 5021 *3,0000H x4 3] 600
=T 50,0002 *20JH 1,000
03.294+9 2,830
~sRSIHSAAOIARNS FHaY
70,0008 *3% *33] 630
-SSR OFMES LT DT} Y
= 110,0002! 202 2,200
02 ZZ2YH| 3,000 4,700 A1,700
O1.Z2Q3LHA 3,000
OIS STHL XS 28 It
150, 00021 20 3,000
202 01l 1,080 1,080 0
01 =Uhord 1,080 1,080 0
OOFMZE2TIHR A AREXO! Y|
60,0002 x2 % +32! 33| 1,080
301 Lptsazg 1,272 2,754 A 1,482
12 JlEet2a3 1,272 2,754 A1,482
OOMES TIHYNS HSREH X
1,590 %200 £ *4CH 1,272
25422 71,400 30,000 41,400
206 Mzl 500 0 500
EETI 500 0 500
OE54 AHIZ 27 500,00024 500
401 A&HILLHE 70,900 10,000 60,900




EAM: EAI=XI
B ARIEMAI (SR LA/ - AE)
Crol: feloj s g XD CLRE
SA - HE . CR(B]H) - NBEAIY - HA2 A} OH &EIE Ho=2t
o= T ° . [= Bl e =5 O:H{ﬂ,% Lsa
01 Al&HI 70,000 10,000 60,000
O3+ dols 2 5,000,000& 22| 10,000
Ok dESIMEAY
20,000, 0003 * 1A 20,000
O+ =¥ &H &l 20,000,000& *27 2 40,000
03 AIZ=0HHI 900 0 900
OB sS4 2 AlE AIE 201l
100,000, 000& *0.90/100 900
Ar2 X (=4]) 23,200 17,700 5,500
= 9,280
& 4,176
Al 9,744
201 Let3| 2,700 2,500 200
= 1,080
= 486
Al 1,134
01 At 2teld] 2,700 2,500 200
O4. 1=l 1,650
“MEELXSAME 22= 110,000& =15 1,650
= 660
== 297
Al 693
O5.2 &l 1,050
ARG Z 4 7,000 150 1,050
= 420
& 189
Al 441
202 OiHl 1,500 3,200 A1,700
= 600
& 270
Al 630
01 =Wodl 1,500 3,200 A 1,700
Q&= stE=Hl 20,0003 *75% 1,500
= 600
< 270
Al 630




EAM: EAI=XI
HE: AU UA (SRHYEL /YL - ME)
ool MRlO BB (ol a e
SN HH G (EH) - MBAY - BYS 01l &+ o4 Soe s
207 SO 5,000 0 5,000
= 2,000
& 900
Al 2,100
02 &&HHE] 5,000 0 5,000
ONEMNEED) T2 2F
5,000, 0003 = 1K 5,000
= 2,000
= 900
Al 2,100
405 KHHHE SHI 14,000 12,000 2,000
= 5,600
& 2,520
Al 5,880
01 T ESHSHI 14,000 12,000 2,000
OsU=s=4dD] 500, 000& =8CH 4,000
2 1,600
= 720
Al 1,680
OREISAMEHI(ZSAHIIXR)
10,000, 000& = 1CH 10,000
= 4,000
= 1,800
Al 4,200
MEYUTFHHRZSE(BEX) 5,000 3,000 2,000
& 1,500
Al 3,500
202 O4dl 5,000 3,000 2,000
& 1,500
Al 3,500
04 =H3stbI 5,000 3,000 2,000
ONEUNZLTRY Helos
5,000,000& 14 5,000
= 1,500
Al 3,500
MEMEIASAMAZEH(EX) 89,527 79,227 10,300
= 27,504




SA: TASTD
Hu: MUFUA (SYHY /Y - ME)
ol MEo|S B e (69 &8
_ _ SIEN
SA - SR(E) - HRAY - BES 0 & 24 i HIRE
MEAHIASMZIH (2X) = 19,253
Al 42,770
401 N&HIYL2HY] 89,527 64,805 24,722
= 27,504
= 19,253
Al 42,770
01 A& 88,766 64,254 24,512
OS2 | 88,766
A A& b 84,450,000 5. 11/100 4,316
~Al& H| 84,450,0002! * 14! 84,450
= 27,504
< 19,253
Al 37,693
03 Al&=CHHI 761 551 210
OS&2 HHl AlZ=0yl
84,450, 00024 *0.90/ 100 761
OHMSSIHSHSELS (LX) 12,000 20,000 8,000
= 6,000
Al 6,000
301 LerE AR 12,000 20,000 8,000
= 6,000
Al 6,000
12 JIEEA3 12,000 20,000 8,000
OOMSESId SHSPAS 12,000,000} 12,000
< 6,000
Al 6,000
OHMEASES(2T) 8,401 2,000 6,401
= 2,520
Al 5,881
101 o124t 8,401 0 8,401
= 2,520
Al 5,881
10 JZH2ENSES 8,401 0 8,401
OOMES2AAIY 22 7,675,0009 %1 7,675
= 2,520
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2AMd: TAIsXI
HE: AU UA (SRHYEL /YL - ME)
ool MRlO BB (sl &e)
SN HH G (EH) - MBAY - BYS 01l &+ o4 Soe s
Al 5,155
O4UEE JI122Y3 7,675,000& *9.45% 726
BsaA(BEX) 23,300 27,796 A4,496
& 5,063
= 4,257
Al 13,980
401 AIEHILROY| 23,300 27,796 A4,496
& 5,063
= 4,257
Al 13,980
01 Al&HI 23,300 27,796 AN4,496
OBS+ 2= (01) 12,000,000& * 14 12,000
= 2,608
= 2,192
Al 7,200
OEs=+ dais2H(0l) 800,000& 14! 800
= 173
& 147
Al 480
OEs+ =HHF2(01Y) 10,500,000 * 14 10,500
= 2,282
& 1,918
Al 6,300
dald 53,041 0 53,041
308 XXEHMSO0IE 53,041 0 53,041
05 XXSHAHRES 53,041 0 53,041
O AAE At 31,960,800& * 1km 31,961
OYTAEINE Al 21,080,00024 21,080
MNEBSUSAIE (BX) 113,141 0 113, 141
= 67,885
& 13,576
Al 31,680
101 el 110,516 0 110,516
= 66,310
& 13,261




SH CASHD
HE: MEHBAY (SYHSLL/YY - AE)
9l MEOIEENPR (e19: @8
_ _ _ Muo
SA BB H(BH) - MBAY - B2 Ofl & o il i~ o HRs2
101 QIAHl Al 30,945
10 JIZHIZRNESS 110,516 0 110,516
OB AB AL 110,516
~o1s el 11,000, 00024 9% 99,000
2 59,400
= 11,880
Al 27,720
AUEE JlRRY3 99,000, 0002 %9, 45% 9,356
2 5,614
= 1,122
Al 2,620
-l = 4| 2,160, 0002 2,160
2 1,296
= 259
Al 605
202 o1l 860 0 860
= 516
= 103
Al 241
01 =Choid| 860 0 860
OB SABA X 01|
20,0002 +15 *432! 860
2 516
= 103
Al 241
206 M=l 1,765 0 1,765
= 1,059
= 212
Al 494
01 M=l 1,765 0 1,765
OUYBSASAY FF HATP 29
1,765,0002 1,765
2 1,059
= 212
Al 494
STHOIBIIBR(EF) 67,667 0 67,667
= 29,000




EAM: EAI=XI

HE: AU UA (SRHYEL /YL - ME)

&Rl MEoSsEH 2L (Ste &)
DA HB L CP(E) - HRAY - BAS 01l &+ o4 Soe s
STHOIENSKA(EX) S 11,600

Al 27,067

402 QIEXE01H 67,667 0 67,667
= 29,000
& 11,600
Al 27,067

01 BIZEXI=22 =X 67,667 0 67,667
O=THOIES JISXIA (A2 B0 200 AAN) 67,667
S=ZEE L 1,050,000 & *50CH 52,500
= 22,500
& 9,000
Al 21,000
-H3Eddy 3,033,400 *5CH 15,167
= 6,500
& 2,600
Al 6,067

At XTI (=) 800,000 800,000 0
= 80,000
Al 720,000

201 Lt 800,000 800,000 0
= 80,000
Al 720,000

01 AtS2&eld] 800,000 800,000 0
06.24%2 800,000
—tr=2 8 IRt 800,000,000 800,000
= 80,000
Al 720,000

MEASHERAAALI(EX) 13,866 0 13,866
& 4,160
Al 9,706

101 el 13,866 0 13,866
& 4,160
Al 9,706

10 JIZtH2=AsSE=+ 13,866 0 13,866
OMSZHES 22| 12,668, 0002 * 1% 12,668




SH CASHD
HE: MEHBAY (S LS =
9l MEOIEENPR 2| # 2
_ _ _ Muo
SNBSS - HRAY - BHES Aboy i 2
= 4,160
Al 8,508
O4RE JIBEYD 12,668, 0002 %9, 45% 1,198
oI T H| U B Al A 39,000 18,000 21,000
= 11,700
= 8,190
Al 19,110
405 THEFH S 39,000 18,000 21,000
=2 11,700
= 8,190
Al 19,110
01 KMUSEHSH 39,000 18,000 21,000
OdZXHE SFFY 7Y 39,000,000 39,000
2 11,700
= 8,190
Al 19,110
NEREES=ENICES 81,774 18,489 63,285
= 49,062
= 9,810
Al 22,902
101 Q12| 40,590 18,489 22,101
= 24,531
= 4,905
Al 1,154
10 JIZH22NERS 40,590 18,489 22,101
O EMENDIE SBOHLIH 13,530
-0l 11,825,000 1,825
2 8,177
= 1,635
Al 2,013
AUEE JlERe3 11,825,000 %9, 45% 1,118
~2UH(RS0H ¥ 587,00024 587
OS¢ o2 13,530
ol 11,825,0002 11,825
2 8,177




SH CASHD
HE: MEHBAY (SYHSLL/YY - AE)
9l MEOIEENPR (9l &2)
_ _ _ Muo
SN-EHH . SH(BH) - HPAY - BE2 Ofl & o il b o B2
= 1,635
Al 2,013
AUEE JIRRY3 11,825,000 %9, 45% 1,118
“SH(RS0H 2 HFEIH)  5687,0009 587
OMXFEEBRLEZ 13,530
-0l 11,825,0002 1,825
2 8,177
= 1,635
Al 2,013
ANEE IR 11,825,0002 9. 45% 1,118
-~ (RS0Hl 2 FFBY|) 587,000 587
201 L2yl 300 0 300
01 AtR2elt] 300 0 300
O2. 9IRS 300
~MEMEOIE SYHUK RS
100,000 12 100
-Satotel DS 10,0002 %1% 100
MRFHESUHY 08 DSEY
100,000 12 100
307 PI2H0IH 40,884 0 40,884
= 24,531
= 4,905
Al 11,448
02 LRABNBE 40,884 0 40,884
O+=28 2CIUI0IE XA
13,628,0002 *3% 40,884
2 24,531
= 4,905
Al 1,448
WLt 3,604,574 2,981,744 622,830
2 1,550,000
= 448,000
Al 1,606,574
NEISIIEE=L.] 306, 356 274,798 31,558
101 Q12| 20,245 10,947 9,208
10 JIZH2ZRS 2+ 20,245 10,947 9,298




SHT A=
HE: MUZMAR (SHHYSA/AY - AE)
ool ME2EHSY (5 &2
_ _ HE T
SN ZB - SR(BH) - NRAY - BES 0l &k 24 Sl e HlnE2
SIEPIEEEET 20,245
ol 51,3802 x223 » 1802 18,497
AURE JIBEYD 8,497, 000! %9, 45% 1,748
201 Ysr2gy| 57,891 68,991 A11,100

] 19,440 15,890 3,550
O1.&8t=2H| 14,840

1,000,000 1,000

4,000,000& 4,000

-StEA P Y 40,0003 52t A %62 1,200
-MYDISEM S£7 (1004 )

2,200& 10001122 2,640

-RelFHEY 200,000& 122 2,400

“MO|etM 2| =2 200,000 1228 2,400

10,0002+ 122 1,200

O4.11 24| 520

-HEPE 22= 130,000 x4 520

O5.2 2| 1,680
SAHDIE B ORI 22N 24

7,000 *22 102 123 1,680

06.2 12 2,400

-x3ts Eof L StolIIoHZX S =Xt
[e]

& Xt 200,000& =20 x62] 2,400
02 3&=23Hl 38,451 53,101 214,650
O1.3E32sZHA 28,800

-24E 2828 & Zoitia SHal

7,000,0002 7,000
~HANLRLB(AEE S)
100, 0002 *23] 200
1,800,002+ 122 21,600
O3. Al 2 ZHI R X 9,651
1, 11821, 476m 1,651
ERTENE]
8,000, 0002 8,000
1,080 1,080 0
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SN SASKD
HH: MU MAY (SEHSTA/AY - AE)
CHl: MRS SR Y (chol: M 9)
SN HB SR (BIH) - A - B S 0l &b S D=2
o= T ° . [= Bl e =5 O:H{ﬂ,% Lsa
TEEEE 1,080 1,080 0
OAAIE SEX 28 L MOILE 40|
60,0002 =22 x32 +33] 1,080
206 M= Hl 3,900 2,050 1,850
01 MZHl 3,900 2,050 1,850
OAgIIEBR |22l U7
2,000,000& 2,000
OAgIIE3d 298 7Y
50,0002 *3074 1,500
OFAIIEZ 2HE ¢
2,000& 1009122 400
308 AtXIHMSOIH 147,490 0 147,490
05 AXESHHZLES 147,490 0 147,490
OALE AL (AEXTAMEE Q] 14E) 147,490,000& 147,490
401 AIEHIZSOHI 75,000 181,080 A 106,080
01 AI&HI 75,000 180,000 A 105,000
OESAY(HAANL 2USH BS &1
s) 50,000,000 *14] 50,000
OAZIIEZEY N=&Y 10,000, 000& *14] 10,000
OAgIIEZd +2 HalE LAl
5,000,000 x 14! 5,000
OAZIIETE +2 HERY
10,000,000 14! 10,000
405 AHAHE SH 750 10,650 9,900
01 AL SESFHSHI 750 9,650 A8,900
OAgIIE3e 2872Y 750
-HHIR 200,000& »2H 400
—0ll = 01 350,000 1 CH 350
ME 2B T 262,234 111,085 151,179
101 elAH] 30,368 16,421 13,947
10 JIZH22NsSE+ 30,368 16,421 13,947
OURs+EE 2222 30,368
-8y 51,3803 x3H 180 27,746
-AHEE JI2RE= 27,746,000 *9.45% 2,622
201 LEHRHH| 23,020 18,405 4,615
01 At22teld 4,440 3,530 910
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EMN: SA=X
B MUEHMAL (SEHLL/YY - LE)
el MRS (cHol: & @
S HEM O (S H) - HIRAY - BAS Of) & o4 dE = Hm=2
(=) c T * - = (=] o = O:H{ﬂ,% Wsa
O1.dBt==H| 2,440
—22AIR A 2o1HHIESE 120,000& = 12& 1,440
-E22((2E) M 2002 *5,0000H 1,000
O6.2 %= 2,000
- 24X L WHSS=TE S
Xt 200,000& x1CH*x10L 2,000
02 22244 18,580 14,875 3,705
O1.2Z222XHAl 12,200
&3 400,000 = 12& 4,800
M AIES 200,000 «12& 2,400
-IHFEsE = 2 NSKHA 1,000,000 = 1CH 1,000
-24=E E8 =2 Y &oiula 22X b
4,000,000& 4,000
O3. A& & HI KXY 1,800
-AMEES4EHE AEHU KA I
1,800,000& 1,800
O4. Xt BH| 4580
-S43 = 4 580,000 =1CH 4580
202 (4| 2,700 2,700 0
01 =2ZWob] 2,700 2,700 0
Ot S AAd dRXAS L HOIL &4
o4 | 60,000 *3H *3L %53 2,700
206 T2l 3,500 2,300 1,200
01 XE4| 3,500 2,300 1,200
Ot 2o E X2 A2
2,000,000& 2,000
OMNUSHLAUN 22oa 2
50,0002 *304 1,500
401 A&EHIZKE20HY] 202,296 71,229 131,067
01 A&t 201,000 71,229 129,771
ONESS AR DoAY (Ol DA, 24
22 5) 100,000,000 1Al 100,000
OFMRAIE HIZZE &X
80,000,000 «1A! 80,000
OMNBSHLUE 22 HalE LA
5,000,000& x4l 5,000
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SH CASHD
HE: MEHBAY (SYHSLL/YY - AE)
el MEREHRA (e19): @8
- o rSIEL==
SN -ZH A (ZH) - MFAY - BES O AF K Ol AF o8 HwsZ
OUZ R4 T MEXY
10,000,0002 *14] 10,000
oS4 B o
6,000,002 *14! 6,000
03 A&l 1,296 0 1,296
OUZSE4BT X4 A&
180,000, 0002 0.72/100 1,29
405 R&HHSH] 350 0 350
01 HANASEHSH] 350 0 350
SIUEBIIET 3500002 * 104 350
NELELE ] 40,000 40,000 0
307 2I2H0IH 40,000 40,000 0
04 DIZFHARE 40,000 40,000 0
O=z1=24 =X 20,000,000 20,000
oJ=MUE =X 20,000,0002 20,000
NEREEEICES 201,440 201,440 0
2 100,000
= 30,000
Al 71,440
401 ASHILLHY 201,440 201,440 0
= 100,000
= 30,000
Al 71,440
01 AZHb] 200,000 200,000 0
OblstarMElE X4 200,000, 0002 %14} 200,000
100,000
= 30,000
Al 70,000
03 Al&=rHyl 1,440 1,440 0
OblstatMElE Z& AISROE]
200,000, 0002 *0. 72/ 100 1,440
MEMEHDIS TS (2F) 500,731 1,161,487 660,756
2 350,000
= 75,000
Al 75,731
401 AN&HLLHY 500,731 1,161,287 660,556

_20_




EAM: EAI=XI
HE: AU UAY (SEHY LYY - ME)
el pElessA (el @)
SN HH G (EH) - MBAY - BYS 01l &+ o4 Soe s
401 Al HIZ 20| s 350,000
& 75,000
Al 75,731
01 A&l 488,000 1,151,264 A 663,264
OSSO EMEIIS X4
488,000,000 * 14! 488,000
s 350,000
= 75,000
Al 63,000
02 Zeltl 9,224 5,878 3,346
OSEFOIMEMEIDIE &4 22l
488,000, 000! +1.89/100 9,204
03 AIE=C0HHI 3,507 4,145 A638
OZESFOEMEDISE 24 AIE&20UH]
487,000,000& *0.72/100 3,507
AAAsde 24 (Ex) 292,460 287,294 5,166
s 200,000
& 43,000
Al 49,460
401 A& HIL=ROY| 292,460 287,294 5,166
s 200,000
L= 43,000
Al 49,460
01 Al&HI 290,444 285,313 5,131
OHlstA T B Ta 290, 444
-& Al & A 280,000,000& *3.73/100 10,444
-Al £ 8l 280,000,000& * 14 280,000
200,000
& 43,000
Al 37,000
03 Al&=0Hdl 2,016 1,981 35
OHISHA IO E LY T4 AlE Y]
280,000,000 *0.72/100 2,016
ESSENANMHSATHE(EX) 1,800,000 905,670 894,330
s 900,000
& 270,000
Al 630,000
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M SAI=SXI
B ARIE AL (SRS M/ - AE)
el MRS (chelmel)
SN HB SR (BIH) - A - B S sk oy S D=2
0f 4 o
401 Al HIZ 20| 1,800,000 905,670 894,330
s 900,000
= 270,000
Al 630,000
01 Al&HI , 793,543 900,000 893,543
OESE NOMHZATY
1,793,543,000& 14! , 793,543
s 900,000
< 270,000
Al 623,543
03 AlZ=RC0HHI 6,457 5,670 787
OESZZ NMEZREL AL2O
1,793,543,000& 0. 36/ 100 6,457
ESHAUMNLAML (BX) 201,353 0 201,353
L= 30,000
Al 171,353
401 Al HIZL 20| 201,353 0 201,353
& 30,000
Al 171,353
01 Al&HI 196,811 0 196,811
Otte 2oty SSoHEA M= 196,811
—& A& A I 189, 186,000 *4.03/100 7,625
-Al &£l 189, 186,000 * 14! 189, 186
= 30,000
Al 159, 186
02 Zeltl 3,179 0 3,179
Ot st & a o= Zeldl
189, 186,000% *1.68/100 3,179
03 A& =0 1,363 0 1,363
ONBSB+BT DEATA UE AL
CH I 189, 186,000 *0.72/100 1,363
HH2AHUI (S A=) (DIEH/DIE 228,089 59,240 168,849
SHH(Z A=K 175,909 4,200 171,709
Melsd 2| 4,200 4,200 0
203 YRFLH| 4,200 4,200 0
04 BEM2ITRFLEL 4,200 4,200 0
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EAM: EAI=XI
. HESFZHI (A=K (IIEHIIE
el olHA2HY| (A=) (ctel &
SN C(BH) - NRAY - HES O] &k o8 Soe HlmE2
SCVEEEEESTIEERTE)
350,000& x12& 4,200
HZoIHA2AY| 171,709 0 171,709
101 ol t| 164,269 0 164,269
03 HAZAH| 6,240 0 6,240
OEJZE 130,000 4«12 6,240
04 wWES2ZxH| 5,760 0 5,760
OEJZE 120,000 4 H « 123 5,760
05 ZEFOHI 8,119 0 8,119
OE2EZZE 81,183,000&*1.2/12 8,119
06 JFAHXI&HI 13,558 0 13,558
OF=Fke:k= 81,183,000& *16.7% 13,558
07 HItEAHH| 3,834 0 3,834
OFAZH 81,183,000& *17/360 3,834
08 JIEIXAE = 126,758 0 126,758
OFRAZE 126,758
=0 1,691,300& *4H x12& 81,183
-HIE 81,183,000& *0.95/12 6,427
s 3,840
PN 40,0003 *4H x 123 1,920
T RAIE 20,0003 x8H »12& 1,920
-AEHSHIE X 1,890
T ESEM 51,4003 x1H »43| 206
TISEM 420,790 x 18 x4 3| 1,684
203 4,440
© 25 0] & 130,000& 1H = 12& 1,560
© 205 01 &-25E 0] et
110,000& 1H = 12& 1,320
* 1543 -204 0] 8F 80,000 x1H »12& 960
*5E-10& 0/ 2t 50,000 x1&E~ 123 600
-F2R=E 28,618
TARZI 2R
6,342 x4H x50A| 2+x 128 15,221
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